@ 2% Bagolt

® a+bi oA b =0 o]H Aot} (T a, b= A






3. O 6x3 -7 +17x -3 3x - 22 U= 5 0(x), UHAE R
olgt & uf, O(1) + R 2] &S F-5todzt,

e =
-



— | Q,
l_l
— |3 o | AN
T @)
ol
_L
M NEe
) ©)
o
il
i 1,_6
or
o ©
Il
™
+
a1
= _
|
N S)
=
I
%o
oo
ol
T & 9



2_x+1 99 4 FoA Ay = x -3 o9 A=t

a, b) & W, a+ b ] S FoFH?



6. FEPA oA I-HT AL x—y -3 +k(x+y) =0Ato]Y] AZE
Fk) =, £(k) o) T2 (k= AFolTh)

; V3 V6 32 3V5



7.

F 4009 HHA
13cm € o, & 49

60 90
o5 @3



FYG+12+yP=1x2+y?-6x-6y+2=0 9 F5HA]

@D o4 @ 174 3 274 @ 370 G 474



KA f(x) 8 2%~ 42 gl W] ol 217k —xt 40]EF, B4
/( 52

X+ 1) 2+ 20 - 302 ol

@ -x+3
3B 2x-3

BRI

® x-1



10. n* —6n? + 259 gto] 247k HA sk 44 n ] 52

@ 174 @ 270 @ 47
@ 9t B T3] Wt}



11. 3224 2xy—y? —4dy — 32 QA5E5) 51H?

O (x+y+1)Bx+y-13) @ (x-y+1)(3x-y-3)
® Bx+y+1)(x—y-3) @ (x+y+1)(Bx—y-3)

® (x-y-1)(3x-y-3)



12. (1\/‘5’

)" & vkel a2 (i = VT ok

-2



13. a—b<00lT vavh = —vab A U, /{a=b) - la + bl = 7H3]
a9

D b @ 2b ® a-2b
@ 2a+b B 0



14. A% g,po] tiste] A4S axb = o2 + b 2 A oottt HA A
xx(x—6) =09 F 22 o, T W, @ + 289 Ft=2 Fotoit (T,
a<p)

YER
=%






16.

HN'



17. %A A, Q)B(?’ -2) & °|2 AB 9 B
AC: BC—2:12 WhEsle 4 C o] Fx%
o] 32 totoiet,

e
-

For o A 9
(a, b) 2t &, a® + b?

il oL,



18.

A AH x+2-3=0, 3x+y-4-a=0, 2x—3y—2a=00°]
Holl A TG EE A4 ¢ 9] 2h2?

®a==; @ a=— ®a=->
®a=5

z



19.

B0 28 3y = 12 91 A AR 00 A5 Z3ky el
FAlo] Hote el W Ae] 4ol (a.b) A W, a+b o G Pt
ofet.

Yk
=%



20. x2+4y? AT 7S
=19
52 =
o], 2x +y o] X AZT} 253k
N S
S ool 2t

o g

o A%



21.

024y = 2y = - o TS} P BE B
X

H2Ea, b, c,d 2D W, dabed ] TS 5t =t

e
=¥



22,

R4x-1=09 ", x°-5x9 k&

D 2 ® 1 3 0



® 3 ® 4 @ 5 ® 7

D1



24. (1-x-x2)% =ap+a1x+ ax® + -+ + asx®® + asox* 0|2t & of,
ap + as + as + -+ + aso & A7

@D 0 ® 1 R 924 @ 925 (3 9250



25. Ul H A(-2,3),B(3,a),C(b,4),D(2,8)2 EAH 22 5}=pABCD
7} Bt Rt H 5 Sk a, b O] & oY

@D 5 ® 6 ® 7 @ 8 ® 9



